Convertir Sistemas Numéricos (H)

Escriba cada respuesta en la base numérica indicada.

Hexadecimal = 1

Binario =

Hexadecimal = 1EA

Binario =

Hexadecimal = 123

Binario =

Hexadecimal = 23E

Binario =

Hexadecimal = 1CAF

Binario =

2.

10.

Hexadecimal = 30

Binario =

Hexadecimal = 286

Binario =

Hexadecimal = 3B0

Binario =

Hexadecimal = 3C0

Binario =

Hexadecimal = ADF

Binario =
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Convertir Sistemas Numéricos (H) Respuestas

Escriba cada respuesta en la base numérica indicada.

Hexadecimal = 1 2.
Binario = 1

Hexadecimal = 1EA 4.
Binario = 111101010

Hexadecimal = 123 0.
Binario = 100100011

Hexadecimal = 23E 8.
Binario = 1000111110

Hexadecimal = 1CAF 10.

Binario = 1110010101111

Hexadecimal = 30
Binario = 110000

Hexadecimal = 286
Binario = 1010000110

Hexadecimal = 3B0
Binario = 1110110000

Hexadecimal = 3C0
Binario = 1111000000

Hexadecimal = ADF
Binario = 101011011111
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